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¥285, 000
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1 |BEBEHRASHE DO CEXE

¥230, 090

2 |BRREVFa)—HASHEHREERE I

R

3 |ZZHCxF ¥ ER LK EH

¥280, 000
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THI3ETA298 5#)

A E S @
AW FEAH SF3ETA29H8
A K B 2 BRI MBEE®
1T X 344 & B A RAEHIL KA NERINUL - BEEES
2 #H A R —fEeE (#)
FEME (BAIAKR) (A) [¥254,600
EFLEE (B) ¥168, 500 %A= B/Ax100 66. 18%
RIEHIRM@HE (C) —
BIEAZRY (D) —
- - | ZEHCF v EX LKA H
¥ F 4 AL ffliA% EALE HE
1 INTT - TC —R# KK FEXE ¥214, 700
2 |BEEEHAREOCEXE ¥249, 000
3 |[BEtEUFa) H(ARUENBEEXE I ¥173, 400
4 [#kX=4LJECC — R
5 [ZZHCH Y ES KRR ¥168, 500 @)
6 |BB)—R&I74F UV AKRASHIRWE R ¥169, 800
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FA3ETA298 G)
A E S 1
AW FEAH SF3ETA29H8
A KB 4 KB BEERERR 2 —IBRIREA
1T X 344 & B A AR AAT &5
2 #H A R REHE
FEfMig (BFTAKR) (A) [¥1,860,000
EFLEE (B) ¥1, 636, 800 %A= B/Ax100 88. 00%
RIEHIRM@HE (C) —
BIEAZRY (D) —
W F MR 2+H
¥ F 4 AL ffliA% EALE HE
1 |BEREHTEYA Y ¥1, 850, 000
2 (Mt ETh ¥1, 636, 800 @)
3 |MHAefta—x— ¥1, 810, 000
4 [HEHTLRT ¥1, 840, 000
5 |MAKHTA TR A ¥1, 820, 000
6 [BRXRHFHEY ¥1, 850, 000
T |[EBTHAY ¥1, 850, 000
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FA3ETA298 G)
A E S 2
AW FEAH SF3ETA29H8
A KB 4 FEBMBESERZ 2 —HRRBE. BERVRTFEEEBERR
BT XN EFT MR3T2& T
2 #H A R REHE
FEMis (FFTAKR) (A) [¥2,976,000
EFLEE (B) ¥2, 678, 400 %A= B/Ax100 90. 00%
RIEHIRM@HE (C) —
BIEAZRY (D) —
W F MR 2+H
¥ F 4 AL ffliA% EALE HE
1 |t 2+ 2 ¥2, 678, 400 @)
2 |ARSHHRFEELA ¥2, 975, 000
3 |MHAefta—x— ¥2, 926, 000
4 [HEHTLRT ¥2, 900, 000
5 |/ EES ¥2, 900, 000
6 [BRXRHFHEY ¥2, 970, 000
1 |ERsit& 3 EFERLK ¥2, 970, 000
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FA3ETA298 G)
A E S 3
AW FEAH SF3ETA29H8
A& ROERNERBRITE
BT XN EFT FATRE A
2 #H A R REHE
FEfMig (FFTAKR) (A) [¥1,890,000
EFLEE (B) ¥1, 820, 000 %A= B/Ax100 96. 30%
RIEHIRM@HE (C) —
BIEAZRY (D) —
W F AR=HXEIE
¥ F 4 AL ffliA% EALE HE
1 |ERSHRETE ¥1, 820, 000 @)
2 (ARl Ex ¥1, 850, 000
3 |EREtRIBHE ¥1, 860, 000
4 |ARESHKETE ¥1, 890, 000
5 [BR&#TA Fih—L ¥1, 880, 000
6 |[BRXRHE ¥1, 890, 000
T (R hILERR ¥1, 860, 000
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